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QUESTION 1

What is shown in the main group?

A. The production system equipment network card occupancy rate is high.
B. The production system equipment network card occupancy rate is low.
C. The production system equipment CPU occupancy rate.

D. The production system equipment CPU occupancy rate is low.

Correct Answer: BC

QUESTION 2
Which of the following describes the correct steps of an Oracle database backup?

1, backup oralce control file 2, backup oracle archive log 3, oralce placed in backup mode 4, oracle placed in normal
mode 5, backup oracle data files

A.35214
B.3,1,54,2
C.35241
D.351.24

Correct Answer: B

QUESTION 3

Which of the following copy is supported by OceanStor V3 remote file system?
A. Synchronous and asynchronous replication

B. Simultaneous replication

C. Asynchronous replication

D. support multiple file system consistency replication

Correct Answer: C

QUESTION 4

Using non-deduplication storage based on the disk library strategy, data recovery fails after the data life of the backup
has expired. What is a reason for this?
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A. Client corresponding partition insufficient space
B. Client One or more simpana services are not started

C. The storage policy checked enable managed disk space for disk library option, leading to the disk\\'s thresholds from
the effectively managed disk space.

D. The client is abnormal with cs or MA communication.

Correct Answer: C

QUESTION 5

Which of the following functions in VMware leverages content-based read cache (CBRC) of ESXi hosts as shown in the
figure to ease the pressure of partial storms in VDI?

Digest File Hash key chunks (metadata)

RAM Buffers

VMDK Fil
ile (indexed by hash)

Per VM Disk Per Host Cache

A. Linked Clone

B. VSA

C. SE Sparse

D. User Data Management

Correct Answer: A
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